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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 289 2) 6,553 3 51 4 412
- 34 - 110 -40 - 1 5
3,
4,
5 1,187 6 37 7 981 8 7,358 >
- 43 -12 -9550 - 1,206 6
7.
8.
9 87 100 836 1) 1,474 12) 62 9.
- 20 -714 - 221 -20
— — —_— — 10.
11.
12.
13) 623 14) 5,672 15) 17 16) 258 13.
- 102 - 3,260 - 5 - 133
T - T T 14,
15.
16.
17) 2,143 18) 88 190 469 20) 6,628 17
-1,021 - 37 -122 - 2,006
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 255
1) 289 2) 6,553 3 51 4 412
- 34 - 110 -40 -1 2 6443
255 6,443 11 411
3, 11
4 411
5 1,187 6 37 7 981 8 7,358 > 1144
- 43 - 12 - 550 - 1,206 . o5
1,144 25 431 6,152
7 431
8 6152
9 87 10) 836 11) 1,474 12) 62 9 67
- 20 -714 - 221 - 20 o 122
67 122 1,253 42
11 1253
12 42
13) 623 14) 5,672 15) 17 16) 258 13. 521
-102 - 3,260 - 5 -133
521 2 412 12 125 4. 2412
15. 12
16. 125
17) 2,143 18) 88 19) 469 20) 6,628 - 1122
-1,021 - 37 -122 - 2,006
1,122 51 347 4,622 18. ol
19. 347
0. 4622
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name:
Solve each problem. Answers
67 431 122 1253
6152 255 1144 25 1
411 42 6443 11
2.
1) 289 2 6,553 3 51 4) 412 3.
- 34 - 110 - 40 - 1
— I — — 4,
5.
6.
7.
8.
5 1,187 6 37 7) 981 8 7,358 0,
- 43 -12 - 550 - 1,206
10.
11.
12.
9 87 10) 836 11) 1,474 12) 62
- 20 -714 - 221 - 20
M odified 1-10 | 9283 75|67 [58[50] 4233|2517 |
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